0000000 o oo oo ogonn

ENERERN

gooad 800000000 oobooboob O
gooad guoooobboggogd
gd 8.00/0
go:ogd
goobn 000400:0o00
EENEEN
goon gobbobbododdn4zd
goon 13818287879
oo

00 0ddgoub oo bbb uuooa

280000000000 NOZ8-20x 4701 Z8-22x 4701 Z8-24x 500 Z8-25x 500] Z8-28% 55
[] Z8-30x 5501 Z8-32x% 6001 Z8-35x% 6001 Z8-38x 6501 Z8-40x 6501 Z8-45x 750 Z8-50% 80LI
Z8-55% 8501 Z8-60x 9001 Z8-63x 9501 Z8-65x 9501 Z8-70x 1100J Z8-75x 11501 Z8-80x% 12001
Z8-85x 12501 Z8-90x 13001 Z8-95x 13501 Z8-100x 14501 Z8-110x 15501 Z8-120x 16501 Z8-13
Ox 18001 Z8-140x 19001 Z8-150x 20001 Z8-160x 21001 Z8-170x 22501 Z8-180x 23501 Z8-190
x 25001 Z8-200x 2600 Z8-220x 2850] Z8-240x 3050J Z8-260x 32501 Z8-280x 3550] Z8-300x

3750 Z8-32
0x 4050 Z8-340x 425

[J Z8-360x 4550 Z8-380x 4750] Z8-400x 495
JO00zsoOoOoOoOoOoOoOoOoOoOOOOOOO12900



RHZ8 R T K
Jﬁ%-l- sIN I =
I: [ —
oh
2 g X
it 8 &
gj /i
78 B BRI AR Rl <
[AEEFRT ( mm) Dimensionss E R e AR s E B ]
ot #iEsm BT
e g ER.
FHE ME- BOEH | EEOESD B
de | Do| Le | LOs| L1 L24 1;1:: KN . me die L4 ot & B MA kg #
Nimmz2 | Nfmm2 « K.m «
204|474 174 22 284 344 304 | 0.294| Mox204 | 54| 2204 954 0.254
224|474 174 22 284 344 304 | 0.324| M6x204 | 54| 200+ 954 0.254
244|504 174 22 284 344 30+ | 0.374| M6x204 | 54| 200: 954 0.27 4
254|504 174) 22 284 344 364 | 0454 Mox204 | 64| 2154 1104 0.27 4
284|554 174) 22 284 344 364 | 0.50L| MGx204 | 64| 200: 1004 170 0.324
304|554 17422, 284 344 364 | 0.544| MEx204 | 64| 190:| 1004 0.354
324|604 174 22 284 344 484 | 0.774| Mox204 | BL| 2154 1154 0.374
354|604 17422 284 344 484 | 0.844| M6x204| 84| 1904 1104 0.341
384|654 174|224 284 344 48+ | 0.914| M6x204 | B4 | 195: 1154 0.404+
40+ | 65+ 179 224 284 344 480 | 0.96¢ | M6x20¢ | 80| 190 | 105¢ 0.38¢
454|754 204|254 334 414 F74 | 1754 MBx254| 74| 2304 1354 0.63 4
504|804 204 25 334 414 774 | 1,931 MBx254| 74| 210: 1304 0.684
554|854 204 25 334 414 BB: | 2.454| MBx254| B | 215: 1354 410 0.734
604|904 204) 25 334 414 BB: | 2.704| MBx254 | B4 | 190: 1254 0.784
634|954 20425 284 414 1004 | 3.18L| MBx254| 94| 205¢ 1404 0.80.
65+ | 95+ 20#| 25+ 334 414 100+ | 3.25¢| MBx25+ | 99| 200# 135+ 0.83+
704|110 244| 30, 404 504/ 1414 | 5.004 | M1Dx304| 84| 2204 | 1404 1.334
754|115 244( 30 404 504 1414 | 5.25+4 | M10=304| 84| 2004 1304 1.404
804120, 24430, 404 504 1414 5.604 | MIOx304| 84| 1904 1254 830 1484
B54|125 244| 30, 404| 504 1594 | 6.754| M10x304| 94| 200+ 1354 1.554
904|130 244| 30, 404 504/ 1594 | 7.104 | M10x304| 94| 1904 | 1304 1.634
05+ |1354 244 30+ 404 504 176+ | 8.35¢ | M10x30¢| 10¢| 200¢ | 140¢ 1.70#
1004145 264| 32, 444 564 2054 | 10.304) M12x30:) B4 | 2104 1454 2.604
1104{155] 264| 32 444 564 2054 [ 11.254 M12x30 4 84| 1904 1354 1452 2.804
1204(165] 264| 32 444 564 2314 13.94| M12x304) 94| 2104 1454 3.004
130 +{180| 34+ 40 | 527| 64+ 308~ | 20.00*| M12x30+| 127 190 | 140v 4.607
1404190 34440 544 684 3174 | 22.254 M14x404| 94| 180+ | 1304 4.94
1504|200 344| 40, 544 6B4 3524 | 26.34| Mldx404| 104 190: | 1404 5.204
1604|210 344 40, 544 684 2874 | 31.04 | M1dx40s) 114 1904 1454 5.504
17042257 44¢ 50 644 784 422+% | 35.9% | M14x40s 12¢ 150% 115¢ | 2307) 5.75+
1804235 444| 50, 644 7BY 4224 3B.04| M14x404) 124 1454 1104 8.154
1904(250] 444) 50 644 784 5284 | 50.14| Mldx404| 154 1704 1304 9.504
200<| 260 44<| 501 64~ 78~ 528~ | 52.8<| Ml14x40~ 157 160+ | 1257 9,907
2204285 504|56. 724 BBL 5871 | 64.54| M1ox404) 124 1454 1104 13.40-
2404305 504(56. 724 BEY 7344 B84 | Mlox404) 154 1654 1304 | 355+| 14.30.
260+ 3254 50+ 56| 72+ B8~ BBO~ | 114+ | Mlox40<| 18| 180+ | 1457 15.50+
2804355 604 66. 844102 9481 | 1324 | M18x304| 164 1504 1204 4850 22.90.
300+ 375« 60+ 66+ B4+ 102« 1059 159 | M1Bx30+| 1B+ 160+ 125+ 2440
3204/405] 744/ 811017121/ 13744] 2204 | M20x504| 184] 1504 | 1204 | o0/ 36.10
3404254 74| 81410141214 1623#| 272,50 M20x50¢| 219| 1754 | 135¢ 38.404
3604455 B64| 94.116{138] 17104| 3084 | M22x604| 1B4| 1404 1104 46.20.
3804475 BO4[ 94,116,138 19954 379+ | M22=004| 214 135+ 1254 | 930+| 55.00-
400+|4954 B6+| 94+ 1164 1384 1995¢| 399 | M22x60¢| 21| 1504 | 1204 61.00¢



http://www.tcpdf.org

